310 Select Specialty Hospital - Madison

801 Braxton PI

Madison, WI 53715

608-260-2701

Hospital Type: LTAC County: Dane

Analysis Area: 1-Southern

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges	:	342	Average Le	ength of Stay (days	s):	34.4	Discharge Status		% Discharges
Total Patient Day	's: 1	11,768	Average C	harge per Discharg	ge: \$3	74,582	Home or Self-Care		10.8%
Psychiatric Utiliz	zation						Other GMS Hospital		13.7%
rsycillatific Othiz	<u>zation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		0		All Discharges:		0.0%	Skilled Nursing Facility		26.9%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Intermediate Care Facilit	•	0.0%
AODA Hillization							Inpatient Rehabilitation F	acility	17.8%
AODA Utilization	<u>!</u>						Hospice		3.5%
Discharges:		0		All Discharges:		0.0%	Other Institution		0.0%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Home Health Service		16.4%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ice	0.6%
Age Group	% Discharges		tient Days	Sex	% Discharges	% Patient Days	Expired		9.9%
Under 15	0.0%	70 T G	0.0%	Male	57.3%	57.5%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	0.6%		0.7%	Female	42.7%	42.5%	Other	Distribution	0.3%
20 - 24	0.6%		0.7%				Naci	z Distribution	
25 - 34	2.3%		3.4%	Expecte	ed Pay Source Dist	<u>ribution</u>	Race	% Discharges	% Patient Days
35 - 44	7.3%		6.9%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.0%	0.0%
45 - 54	12.9%		14.0%	Medicare		36.3%	Asian	0.6%	0.3%
55 - 64	31.0%		28.4%	Medicaid/Badge	erCare	6.4%	Black/African Amer.	3.8%	3.8%
65 - 74	30.4%		31.8%	Other Governm	ent	6.1%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	13.2%		12.6%	Commercial or	Private Insurance	44.4%	White	93.6%	94.2%
85 & Over	1.8%		1.5%	Self-Pay		0.3%	Multiracial	0.0%	0.0%
				Other or Unkno	wn Insurance	6.4%	Declined	1.5%	1.2%
							Unavailable	0.6%	0.6%

APR-DRG Specific Data

		A۱	erage Length of S	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin LTAC	Ratio	This Facility	All Wisconsin LTAC	Ratio	
049 Bacterial & tuberculous infections of nervous system	*	*	26.1	*	*	\$238,513	*	
130 Respiratory System DX w/ Vent Support 96+ Hrs	126	37.2	38.9	0.96	\$531,842	\$532,364	1.00	
133 Respiratory failure	93	29.7	32.5	0.91	\$254,565	\$256,447	0.99	
193 Acute & Subacute Endocarditis	*	*	22.8	*	*	\$153,503	*	
206 Malfunction/ Reaction/Complication of Heart Device or Proced	dı *	*	26.5	*	*	\$167,471	*	
248 Major G.I. Bacterial Infections	7	34.7	34.3	1.01	\$214,146	\$228,622	0.94	
344 Osteomyelitis and Infectious Arthritis	21	43.0	39.7	1.08	\$213,147	\$203,302	1.05	
349 Complications Of Orthopedic Device Or Procedure	7	28.3	27.9	1.01	\$164,073	\$182,285	0.90	
380 Skin Ulcers	9	27.1	37.5	0.72	\$159,328	\$143,591	1.11	
721 Postoperative and Post-Traumatic Infections	13	26.5	30.8	0.86	\$155,721	\$224,616	0.69	
724 Other infectious & parasitic diseases	*	*	18.9	*	*	\$126,263	*	
862 Other Factors Influencing Health Status	14	31.9	45.6	0.70	\$163,228	\$162,308	1.01	
951 Moderately Extensive Procedure Unrelated to Diagnosis	*	*	51.4	*	*	\$541,878	*	

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

3237 South 16th Street, 5th Floor

Milwaukee, WI 53215

414-647-3995

Hospital Type:	LTAC
County:	Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges	:	185	Average Le	ength of Stay (days	s):	32.6	Discharge Status		% Discharges
Total Patient Day	'S:	6,038	Average C	harge per Discharg	je: \$3	61,883	Home or Self-Care		15.1%
Psychiatric Utiliz	zation						Other GMS Hospital		4.9%
Psychiatric Utili.	<u>zation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		0	Percent of	All Discharges:		0.0%	Skilled Nursing Facility		43.2%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Intermediate Care Facilit	У	0.5%
AODA Hillization	_						Inpatient Rehabilitation F	acility	13.0%
AODA Utilization	<u>!</u>						Hospice		4.3%
Discharges:		0		All Discharges:		0.0%	Other Institution		0.0%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Home Health Service		10.8%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ice	1.6%
Age Group	% Discharges	% Pat	tient Days	Sex	% Discharges	% Patient Days	Expired		4.3%
Under 15	0.0%	70 T G	0.0%	Male	52.4%	49.1%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	1.1%		1.7%	Female	47.6%	50.9%	Other	Distribution	2.2%
20 - 24	0.5%		0.3%				Naci	<u> Distribution</u>	
25 - 34	4.9%		6.5%	<u>Expect</u>	ed Pay Source Dist	<u>tribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	9.7%		7.0%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.0%	0.0%
45 - 54	16.2%		15.2%	Medicare		52.4%	Asian	0.5%	1.2%
55 - 64	28.6%		29.6%	Medicaid/Badge	erCare	11.9%	Black/African Amer.	36.2%	37.8%
65 - 74	23.2%		23.7%	Other Governm	ent	1.1%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	14.1%		15.1%	Commercial or	Private Insurance	28.1%	White	63.2%	61.0%
85 & Over	1.6%		1.1%	Self-Pay		0.5%	Multiracial	0.0%	0.0%
				Other or Unkno	wn Insurance	5.9%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

APR-DRG Specific Data

		A۱	verage Length of S	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin LTAC	Ratio	This Facility	All Wisconsin LTAC	Ratio
049 Bacterial & tuberculous infections of nervous system	*	*	26.1	*	*	\$238,513	*
130 Respiratory System DX w/ Vent Support 96+ Hrs	65	42.3	38.9	1.09	\$534,404	\$532,364	1.00
133 Respiratory failure	51	23.9	32.5	0.74	\$249,703	\$256,447	0.97
193 Acute & Subacute Endocarditis	5	20.8	22.8	0.91	\$139,233	\$153,503	0.91
206 Malfunction/ Reaction/Complication of Heart Device or Proced	dι *	*	26.5	*	*	\$167,471	*
248 Major G.I. Bacterial Infections	*	*	34.3	*	*	\$228,622	*
344 Osteomyelitis and Infectious Arthritis	23	28.6	39.7	0.72	\$165,759	\$203,302	0.82
349 Complications Of Orthopedic Device Or Procedure	5	25.8	27.9	0.92	\$248,221	\$182,285	1.36
380 Skin Ulcers	7	33.7	37.5	0.90	\$164,908	\$143,591	1.15
721 Postoperative and Post-Traumatic Infections	*	*	30.8	*	*	\$224,616	*
724 Other infectious & parasitic diseases	0	N/A	18.9	N/A	*	\$126,263	N/A
862 Other Factors Influencing Health Status	*	*	45.6	*	*	\$162,308	*
951 Moderately Extensive Procedure Unrelated to Diagnosis	6	45.8	51.4	0.89	\$614,097	\$541,878	1.13

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

184 Lakeview Specialty Hospital & Rehab

1701 Sharp Road

Waterford, WI 53185

262-534-7297

Hospital Type: LTAC
County: Racine

Analysis Area: 2A-Southeastern

Overall Hospital U	<u>tilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		196	Average Le	ength of Stay (days):		49.4	Discharge Status		% Discharges
Total Patient Days:		9,687	Average C	harge per Discharge	: \$2	43,035	Home or Self-Care		32.7%
Psychiatric Utiliza	tion						Other GMS Hospital		30.1%
	<u>lion</u>						Critical Access Hospital ((CAH)	0.0%
Discharges:		0		All Discharges:		0.0%	Skilled Nursing Facility		26.0%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Intermediate Care Facilit	•	5.1%
AODA Utilization							Inpatient Rehabilitation F	acility	1.5%
		_					Hospice		0.0%
Discharges:		0		All Discharges:		0.0%	Other Institution		0.5%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Home Health Service	•	0.0%
<u> </u>	Age Distribution				Sex Distribution		Left Against Medical Adv	ice	0.5%
Age Group	% Discharges	% Pat	tient Days	Sex	% Discharges	% Patient Days	Expired	Law Enforcement	2.6%
Under 15	0.0%		0.0%	Male	64.8%	61.0%	Discharge/Tran to Court/ Other	Law Eniorchini	0.0% 1.0%
15 - 19	3.1%		3.4%	Female	35.2%	39.0%		Distribution	1.0%
20 - 24	1.5%		1.5%	5	. D O Dia	4!			
25 - 34	10.7%		9.6%	Expected	I Pay Source Dis	tribution	Race	<u>% Discharges</u>	% Patient Days
35 - 44	8.7%		11.9%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	1.0%	0.7%
45 - 54	18.9%		19.8%	Medicare		31.1%	Asian	0.0%	0.0%
55 - 64	33.7%		29.2%	Medicaid/Badger		33.7%	Black/African Amer.	14.3%	13.8%
65 - 74	16.3%		18.6%	Other Governmer	·= =	0.0%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	6.6%		5.7%	Commercial or Pr	ivate Insurance	34.7%	White	84.7%	85.6%
85 & Over	0.5%		0.4%	Self-Pay		0.5%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.0%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%
				API	R-DRG Specific D	Data			

			Α	verage Length of S	Stay	Average Charge per Discharge			
		Number of Discharges	This Facility	All Wisconsin LTAC	Ratio	This Facility	All Wisconsin LTAC	Ratio	
049	Bacterial & tuberculous infections of nervous system	6	18.2	26.1	0.70	\$272,328	\$238,513	1.14	
130	Respiratory System DX w/ Vent Support 96+ Hrs	11	41.4	38.9	1.06	\$347,518	\$532,364	0.65	
133	Respiratory failure	41	48.0	32.5	1.48	\$249,501	\$256,447	0.97	
193	Acute & Subacute Endocarditis	0	N/A	22.8	N/A	*	\$153,503	N/A	
206	Malfunction/ Reaction/Complication of Heart Device or Proceed	dı O	N/A	26.5	N/A	*	\$167,471	N/A	
248	Major G.I. Bacterial Infections	*	*	34.3	*	*	\$228,622	*	
344	Osteomyelitis and Infectious Arthritis	18	54.9	39.7	1.38	\$209,619	\$203,302	1.03	
349	Complications Of Orthopedic Device Or Procedure	*	*	27.9	*	*	\$182,285	*	
380	Skin Ulcers	8	63.4	37.5	1.69	\$78,420	\$143,591	0.55	
721	Postoperative and Post-Traumatic Infections	*	*	30.8	*	*	\$224,616	*	
724	Other infectious & parasitic diseases	*	*	18.9	*	*	\$126,263	*	
862	Other Factors Influencing Health Status	31	56.6	45.6	1.24	\$146,521	\$162,308	0.90	
951	Moderately Extensive Procedure Unrelated to Diagnosis	0	N/A	51.4	N/A	*	\$541,878	N/A	

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported

190 Select Specialty Hospital - Milwaukee - West Allis

8901 W Lincoln Ave, 6th Floor

West Allis, WI 53227

414-328-7700

Hospital Type: LTAC

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospita	I Utilization						Patient D	ischarge Stat	us
Total Discharges	3:	239	Average L	ength of Stay (days)		34.9	Discharge Status		% Discharges
Total Patient Day	ys:	8,347	Average C	harge per Discharge	e: \$3	82,525	Home or Self-Care		7.5%
Psychiatric Utili	ization						Other GMS Hospital		7.9%
·	<u> Zution</u>		_				Critical Access Hospital	(CAH)	0.0%
Discharges:		0		All Discharges:		0.0%	Skilled Nursing Facility		38.5%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Intermediate Care Facilit	•	0.0%
AODA Hillizatio	n						Inpatient Rehabilitation F	acility	13.0%
AODA Utilizatio	<u>II</u>						Hospice		5.4%
Discharges:		0		All Discharges:		0.0%	Other Institution		0.0%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Home Health Service		16.3%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	2.1%
Age Group	% Discharges	% Pat	tient Days	Sex	% Discharges	% Patient Days	Expired	// -	8.8%
Under 15	0.0%	70 T G	0.0%	Male	58.2%	58.0%	Discharge/Tran to Court, Other	Law Enforcmnt	0.0%
15 - 19	0.4%		0.9%	Female	41.8%	42.0%	÷	Distribution	0.4%
20 - 24	0.4%		0.5%		1 D . O D'				
25 - 34	5.0%		5.7%	Expected	d Pay Source Dist	ribution	<u>Race</u>	% Discharges	% Patient Days
35 - 44	2.5%		1.4%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.4%	0.8%
45 - 54	12.1%		12.3%	Medicare		48.1%	Asian	2.1%	1.3%
55 - 64	31.0%		35.1%	Medicaid/Badger	Care	14.6%	Black/African Amer.	24.7%	28.4%
65 - 74	29.7%		28.3%	Other Governme	nt	2.5%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	15.9%		14.0%	Commercial or P	rivate Insurance	28.0%	White	72.4%	69.1%
85 & Over	2.9%		1.8%	Self-Pay		0.8%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	5.9%	Declined	0.4%	0.3%
							Unavailable	0.0%	0.0%
					D DDO 0				

		A	erage Length of S	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin LTAC	Ratio	This Facility	All Wisconsin LTAC	Ratio	
049 Bacterial & tuberculous infections of nervous system	*	*	26.1	*	*	\$238,513	*	
130 Respiratory System DX w/ Vent Support 96+ Hrs	73	38.6	38.9	0.99	\$559,304	\$532,364	1.05	
133 Respiratory failure	49	33.6	32.5	1.03	\$272,847	\$256,447	1.06	
193 Acute & Subacute Endocarditis	5	21.2	22.8	0.93	\$164,525	\$153,503	1.07	
206 Malfunction/ Reaction/Complication of Heart Device or Proced	dı 6	22.3	26.5	0.84	\$149,966	\$167,471	0.90	
248 Major G.I. Bacterial Infections	*	*	34.3	*	*	\$228,622	*	
344 Osteomyelitis and Infectious Arthritis	21	35.6	39.7	0.90	\$229,160	\$203,302	1.13	
349 Complications Of Orthopedic Device Or Procedure	5	14.8	27.9	0.53	\$149,088	\$182,285	0.82	
380 Skin Ulcers	7	24.9	37.5	0.66	\$176,520	\$143,591	1.23	
721 Postoperative and Post-Traumatic Infections	*	*	30.8	*	*	\$224,616	*	
724 Other infectious & parasitic diseases	5	21.4	18.9	1.13	\$156,779	\$126,263	1.24	
862 Other Factors Influencing Health Status	6	31.5	45.6	0.69	\$219,190	\$162,308	1.35	
951 Moderately Extensive Procedure Unrelated to Diagnosis	8	48.5	51.4	0.94	\$440,249	\$541,878	0.81	

N/A - Zero Discharges reported

^{* 1} through 4 Discharges reported